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QUESTION 1

Refer to the Exhibit. 

A storage administrator has an Isilon cluster with the following: 

Five S210 nodes Eight X200 nodes Eight NL400 nodes 

The cluster default protection level is set to N+2n and the administrator has configured the listed file pool policies. A
video capture station saves a new file to /ifs/content/project as intro.mov. 

Which node pool is the intro.mov file written to and which protection level is applied? 

A. NL400_Pool at N+3n protection 

B. S210 _Pool at N+2n protection 

C. X200_Pool at N+2n protection 

D. X200_Pool at N+3n protection 

Correct Answer: B 

 

QUESTION 2

A storage administrator has an Isilon cluster consisting of 10 nodes with identical hardware and are members of a single
node pool. A 1024Kb file stored on that cluster is protected at N+3n. What is the total number of copies of the file\\'s
metadata? 

A. 3 

B. 4 

C. 6 

D. 5 

Correct Answer: B 
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QUESTION 3

Traditional NAS storage architectures deploy simple two-way failover between two controllers in storage 

systems, such as highly available configurations. 

How is the Isilon architecture different in terms of system resiliency and availability? 

A. OneFS enables each node to have a designated partner node for simple failover between the pair. 

B. Use of client-side drivers can enable failover to other nodes. 

C. Isilon clustered architecture deploys standby failover nodes to ensure the highest available solution. 

D. OneFS enables each node to be a peer to any other node in an Isilon cluster. Any node can take over for any other
node. 

Correct Answer: A 

 

QUESTION 4

What is an Ancestry Event on an Isilon cluster? 

A. First instance of a coalesced event 

B. ID that an event had prior to being quieted 

C. An event that has been canceled 

D. An event that affects multiple nodes 

Correct Answer: A 

 

QUESTION 5

A storage administrator needs to create a file pool policy to move files that have not been changed in over two months
to their archive tier. The Tiers of nodes with faster and slower node pools already exist. Which file matching criterion
should be used to meet this requirement? 

A. atime is older than 2 months ago 

B. birthtime is older than 2 months ago 

C. ctime is older than 2 months ago 

D. mtime is older than 2 months ago 

Correct Answer: D 
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